1 -2

BEXS 1 RERETRE

2K & 5

4 %

Z K & # M (H&Mz&d.)
Z ®¥ H £ A H

B 7 M £ A H»S £ A HZET
2R ¥ H £ A H

kR & #

:"% AN )o
(BRI 5 2 220 24) M (R&EREET.)

ZERIERFEREE (P 1) M (HEBiz&L,)
TEREAREE (P2) M (HEBiz&L,)
251 NEE (S) M (HEBizE&,)
A74 R&E (S) = P2 — P1 —(C P1 x1,/100)

= — — ( x1,7100)

RENRIEAREE (P 1) =
ZIREEN S EER IZE T S BITHFHD IS T 22K S R U 288

REMREANREE (P2) =
BEEARBRAOESROYME2ER L UTEHUAZP LIZHE 58

XHRE, HREHEIE, RHHEARSEROLHREARSEIIOVTER, HEL T, &£
L. BEOERIZE>TIE, IheEETHIehH5,



